Crosley CW20P8W 03 - CONTROL PANEL (ORIG. REV. A-D)

CROSLEY CH20P8 BACKGUARD

[SSUED 9789

Crosley Residential Crosley CW20P8W Washer Parts Parts Diagram 03 - CONTROL PANEL (ORIG. REV. A-D)
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 257702 Speedclip, End Cap To Control
Panel
" 35-2181 Not Available CONTROL PANEL
" 25-7793 Screw
2 35-2488 21001452 Cap- End
" 35-2487 21001451 Cap- End
" 53-0264 RH Endcap
" 53-0265 LH Endcap
3 34-9487 Not Available PLATE, REINFORCEMENT
" 25-7851 Speedclip, End Cap To Top
" 25-7697 25-2219 Screw
4 25.7852 gggedclip, Rr Shid To End
" 25-7435 33002917 Screw, No.10-16
5 53-0277 Not Available TRIM, END CAP (RT)
" 53-0278 Not Available TRIM, END CAP (LT)

6 25-7760 Screw


http://www.pwslaundry.com/c-512127-residential-crosley-cw20p8w-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10429430-crosley-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html
http://www.pwslaundry.com/i-10429415-crosley-25-7793-washer-dryer-screw.html
http://www.pwslaundry.com/i-10433216-crosley-21001452-washer-dryer-cap-end.html
http://www.pwslaundry.com/i-10433212-crosley-21001451-washer-dryer-cap-end.html
http://www.pwslaundry.com/i-10429447-crosley-53-0264-washer-dryer-rh-endcap.html
http://www.pwslaundry.com/i-10429451-crosley-53-0265-washer-dryer-lh-endcap.html
http://www.pwslaundry.com/i-10429455-crosley-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10431062-crosley-25-2219-washer-dryer-screw.html
http://www.pwslaundry.com/i-10429459-crosley-25-7852-washer-dryer-speedclip-rr-shld-to-end-cap.html
http://www.pwslaundry.com/i-10430210-crosley-33002917-washer-dryer-screw-no-10-16.html
http://www.pwslaundry.com/i-10429463-crosley-25-7760-washer-dryer-screw.html

11
12
13
14

15

25-3092

25-7702

53-0365
53-1676
25-3457

25-3092

35-2688
53-0268
35-2211
25-0205
35-0180
35-0498

25-3092

35-0114
35-2256

25-3092

35-2193
35-2145

25-3092

33-8304

90767

53-1676

90767

21001460

21001460

216412
12500058
12500058

90767

21001283

90767

21001554

90767

Not Available

Not Available

Not Available

Not Available

Screw, 8A X 3/8 HeX Washer
Head Tapping

Speedclip, End Cap To Control
Panel

Shield, Control
Shield, Control
Screw, Sems

Screw, 8A X 3/8 HeX Washer
Head Tapping

Shield, Rear

Shield, Rear

TIMER

Screw, Bracket To Timer
Knob Ski

Knob Ski

Screw, 8A X 3/8 HeX Washer
Head Tapping

TEMP SWITCH
Knob, Selector----Piq

Screw, 8A X 3/8 HeX Washer
Head Tapping

SWITCH, ROTARY SPEED
Switch, Water Level

Screw, 8A X 3/8 HeX Washer
Head Tapping

MANUAL, USE & CARE


http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429430-crosley-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html
http://www.pwslaundry.com/i-10429468-crosley-53-1676-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10429468-crosley-53-1676-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10429472-crosley-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431044-crosley-21001460-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10431044-crosley-21001460-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10432358-crosley-216412-washer-dryer-screw-bracket-to-timer.html
http://www.pwslaundry.com/i-10433200-crosley-12500058-washer-knob-ski.html
http://www.pwslaundry.com/i-10433200-crosley-12500058-washer-knob-ski.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431262-crosley-21001283-washer-dryer-knob-selector-piq.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429867-crosley-21001554-washer-switch-water-level.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html

	Crosley CW20P8W 03 - CONTROL PANEL (ORIG. REV. A-D)

